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)11 4, B ECAIEES ) 1 e
AR [P KR () — G (B) Zinsih (B)

HEEH FERT SH) oM~ KA n/n SEE) T ME~ TR n/n SEH) M~ TR n/n
pH 7.8 7.2 ~ 8.9 1/ 12 7.8 7.2 ~ 88| 1/ 12 7.5 7.3 ~ 7.7 0/ 4
DO (mg/1) 11 9.5 ~ 13 0/ 12 10 7.9 ~ 13[ 0/ 12 9.9 8.6 ~ 1| o/ 4
BOD (mg/1) 0.9 < 0.5 ~ 2.3 1/ 12 1.0 0.5 ~ 2.8] 0/ 12 0.8 0.5 ~ 1.5] 0/ 4
BOD (T Be 75%(H) 1.0 1.0 0.7

ammsEE Guin [SOP (mg/1) 2.3 1.6 ~ 3.4[ 0/ 12 2.5 1.5 ~ 3.5 0/ 12 2.6 2.4 ~ 3.1[ 0/ 4
S S (mg/1) 2| < 1~ 51 0/ 12 2 1~ 0] 0/ 12 2 1~ 3l 0/ 4
KM R (MPN/100m1) 8. 4E03 1. 103 ~ 2.4E04| 12/ 12 6. 3E03 4.9E02 ~ 2.4804| 3/ 12 4.1E03 3.3E02 ~ 7.9803| 1/ 4
n — -~ A T (mg/1)

L Fok (mg/1) 0.82 0.66 ~ 0.90[ 4/ 4 0.86 0.64 ~ 0.96[ 4/ 4 0.76 0.61 ~ 0.87 4/ 4
Lol (mg/1) 0. 045 0.024 ~ 0.060 4/ 4 0.051 0.025 ~ 0.064 4/ 4 0. 062 0.042 ~ 0.10[ 4/ 4
HARIT N (mg/1)
LLT v (mg/1)
i (mg/1)
Y A=FN (mg/1)
(mg/1) < 0.005 < 0.005 0/ 4
(mg/1)
(mg/1)
PCB (mg/1)
(mg/1)
(mg/1)
(mg/1)
1, 1-Y/ruxFlLv (mg/1)
YA—1, 2-—YsppzFL v (mg/1)
e 1, 1, 1—-hVZsmrpxzry (mg/1)
1, 1, 2—hYrmpupxi (mg/1)
M) zruxzFLy (mg/1)
FhI/unzFL (mg/1)
1, 3—Ysrmursay (mg/1)
FUT A (mg/1)
=Ty (mg/1)
FASLHNT (mg/1)
NPy (mg/1)
L (mg/1)
T M 8 S R OV R R (mg/1)
L B 2 (mg/1)
5o (mg/1) 0.2 0.1~ 0.2[ 0/ 4 0.1 0.1~ 0.2 0/ 4
EES (mg/1)
1, 4—VFFH (mg/1)
A (mg/1) 0. 0048 0.0020 ~ 0.011] 0/ 12 0. 0067 0.0030 ~ 0.012[ 0/ 12 0. 0053 0.0020 ~ 0.0090| 0/ 4
REAEMHEHA |/ =172 —1 (mg/1) 0.060| < 0.060 ~ 0.060[ 0/ 4] < 0.060 < 0.060 0/ 4
LAS (mg/1) | < 0.0020 <0.0020 0/ 4| < 0.0020 <0.0020 0/ 4
=0T V¥ (mg/1) < 0.006 0/ 2 < 0.006 0/ 2
PEWESIZS (mg/1) < 0.001 0/ 2 < 0.001 0/ 2

KA S LA RIVLAT LT B R* (mg/il) < 0.03 0/ 2 < 0.03 0/ 2
4—t—FIFNTx)—)b (mg/1) | < 0.070 < 0.070 0/ 21< 0.070 < 0.070 0/ 2
=y (mg/1) | < 0.002 < 0.002 o/ 2| < o0.002 < 0.002 0/ 2
2, 4—Ys/mur=)—)\ (mg/1) | < 0.0003 <0.0003 0/ 2| < 0.0003 <0.0003 0/ 2
=1L VI ZN (mg/1) < 0.006 0/ 2 < 0.006 0/ 2
N RA—1, 2—VZupzFL v (mg/1)

1, 2—Yz7unrsasy (mg/1)
p—YrmrRr¥r (mg/1)
AV FYFAL (mg/1)
ATV v (mg/1)
Z7xz=bhuaFtr (MEP) (mg/1)
AV TuFFT (mg/1)
% L U4 (FTHER) (mg/1)
smuZu=,L (TPN) (mg/1)
Tu Y (mg/1)
EPN (mg/1)
EEE 7 uARA (DDVP) (mg/1)
Zx)7HNT (BPMC) (mg/1)
A 7a~rkA (1BP) (mg/1)
sur=hn7zr (CNP) * (mg/1)
[ (mg/1)
Xvrv (mg/1)
T BNEEY T T ~F L (mg/1)
o Lk (mg/1)
Y TT (mg/1)
TrFEY (mg/1)
ke =rE ) ~— (mg/1)
Tvsnmrk KY v (ug/1)
Ee (mg/1)
VT (mg/1)
7z ) — L% (mg/1)
ik (mg/1)
B (AR * (mg/1)
~ 0 () * (mg/1)
7o Lk (mg/1)
T = TR ek (mg/1) 0. 06 0.05 ~ 0.06[ 1/ 4
2o ATHEE R (mg/1)
A b RERR Y (mg/1)
TOC* (mg/1)
il (BE) 3] < 1~ 7] 9/ 12 2 1~ 7|12/ 12 2 1~ 31 4/ 4
AR (ms/m) 8.7 6.5 ~ 1fie/ 12 10 7.8 ~ 13[12/ 12
C 1A (mg/1) 8 5~ 1| 4/ 4
Va1 Py e (pg/1)
S A ARG B2 (f15/100m1) 290 90 ~ 19| 0/ 2 570 330 ~ 800| 0/ 2 260 170 ~ 470) 0/ 4
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)11 4, F 1] i /NI N
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HEEH FERT SH) SoME~ T KA w/n SEH) T ME~ TR n/n SEH) M~ TR m/n
pH 7.5 7.2 ~ 8.5] 0/ 12 7.4 7.1~ 7.8] 0/ 7.6 7.2 ~ 8.0] 0/ 12
DO (mg/1) 10 8.9 ~ 13 0/ 12 10 8.4 ~ 12| o/ 10 8.6 ~ 12| 0/ 12
BOD (mg/1) 1.0 0.5 ~ 2.3 0/ 12 0.8 < 0.5 ~ 12| 0/ 10| < 0.5 ~ 3.0[ 0/ 12
BOD (T Be 75%(H) 1.2 0.9 1.0

ammsEE Guin [SOP (mg/1) 3.1 2.1~ 1.2[ 0/ 12 2.6 1.9 ~ 3.2 o/ 2.3 1.5 ~ 3.4 0/ 12
SS (mg/1) 3 1~ 6] 0/ 12 3] < 1~ 6| 0/ 3] < 1~ 7| 0/ 12
R S (MPN/100m1) 1. 4E04 7. 9E02 ~ 9.2804) 2/ 12 1. 5E04 2.3E02 ~ 5.4804| 1/ 1. 2E04 7.9E02 ~ 5.4E04| 5/ 12
n —~% Y A ETx (mg/1) ND 0/ 4
BEHR* (mg/1) 0. 98 0.82 ~ 1212/ 12 0.71 0.65 ~ 0.79] 4/ 4
Lol (mg/1) 0. 083 0.048 ~ 0.16[12/ 12 0. 037 0.028 ~ 0.047| 4/ 4
BRIV A (mg/1) [ < 0.0003 <0.0003 0/ 2
BTV (mg/1) ND ND 0/ 2
f (mg/1)| < 0.005 < 0.005 0/ 6
Y EA=FN (mg/1)| < 0.04 < 0.04 0/ 2

(mg/1)| < 0.005 < 0.005 0/ 6
(mg/1) [ < 0.0005 <0. 0005 0/ 2
(mg/1)
PCB (mg/1) ND ND 0/ 1
(mg/1)| < 0.002 < 0.002 0/ 2
(mg/1) [ < 0. 0002 <€0.0002 0/ 2
(mg/1) [ < 0.0004 <€0.0004 0/ 2
1, 1-Y/mupxFL v (ng/1) ] < 0.002 < 0.002 0/ 2
YA—1, 2—-YZunxFLv (mg/1)| < 0.004 < 0.004 0/ 2
e E 1, 1, 1—-hYyrmrpxyy (mg/1) | < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsumxyy (mg/1) [ < 0. 0006 <0. 0006 0/ 2
My rmprxFL (mg/1)| < 0.002 < 0.002 0/ 2
FhrZ7/apTFL v (mg/1)| < 0.0005 <0. 0005 0/ 2
1, 3—Yrmursasy (mg/1)| < 0.0002 <€0. 0002 0/ 2
FUT A (mg/1) [ < 0. 0006 <0. 0006 0/ 2
DA (mg/1) [ < 0.0003 <0.0003 0/ 2
FARUHNT (mg/1)| < 0.002 < 0.002 0/ 2
NP (mg/1)| < 0.001 < 0.001 0/ 2
Ly (mg/D) [ < 0.002 < 0.002 0/ 2
THERE %8 38 B OVHE R R % (mg/1) 0.75 0.47 ~ 0.87[ 0/ 4
AR % S (mg/1) 0. 009 0.005 ~ 0.015) 4/ 4
SoH (mg/1) 0.1 0.1 0/ 4
ESES (mg/1) 0.03 0.02 ~ 0.05[ 0/ 4
1, 4—VFF¥ (mg/1)| < 0.005 < 0.005 0/ 2
g (mg/1) 0.012 0.0060 ~ 0.017| 0/ 12 0. 0061 0.0020 ~ 0.012| 0/ 12
KAEEPIEEEE | ) =17 =) —0 (mg/1) < 0.060 < 0. 060 0/ 4
LAS (mg/1) < 0.0020 <0. 0020 0/ 4
ZA=2=8: Y WA (mg/1) < 0.006 0/ 2
Tz )=k (mg/1) < 0.001 0/ 2

A B L HRIVLAT VT B R* (mg/il) < 0.03 0/ 2
A—t—FIFNT =) —) (mg/1) < 0.070 < 0.070 0/ 2
=y (mg/1) < 0.002 < 0.002 0/ 2
2, A—vruurz)—N (mg/1) < 0.0003 <0. 0003 0/ 2
ZA=2=%: V)N (mg/1) < 0.006 0/ 2
ForAR—1, 2—-YZupxzFL v (mg/1) < 0.004 0/ 1
1, 2—-Y/mrurnsy (mg/1) < 0.006 0/ 1
p—YrmrNUEr (mg/1) < 0.03 0/ 1
(Y FYFH (mg/1) <0. 0008 0/ 1
AT (mg/1) <0. 0005 0/ 1
Zx=haFtr (MEP) (mg/1) <0. 0003 0/ 1
AV TaFFT (mg/1) < 0.004 0/ 1
A X8 () (mg/1) < 0.004 0/ 1
smrAua=, (TPN) (mg/1) < 0.004 0/ 1
Tu Y (mg/1) <€0. 0008 0/ 1
EPN (mg/1) <0. 0006 0/ 1

B A zeAEA (DDVP) (ng/1) < 0.001 0/ 1
7= )7 HNT (BPMC) (mg/1) < 0.002 0/ 1
A 7Rk A (1BP) (mg/1) <€0. 0008 0/ 1
sup=rr7=zr (CNP) * (mg/1) <€0. 0005 0/ 1
MLz (mg/1) < 0.06 0/ 1
XLy (mg/1) < 0.04 0/ 1
TENET T F~F L (mg/1) < 0.006 0/ 1
> Lk (mg/1) < 0.001 0/ 1
) TT (mg/1) < 0.007 0/ 1
ToFEY (mg/1) <€0. 0002 0/ 1
HiibE =LE ) ~— (mg/1) <0. 0002 0/ 1
TE/uRE YL (ug/1) < 0.04 0/ 1
e d (mg/1) 0.04] < 0.02 ~ 0.04[ 0/ 2
P (mg/1) <0. 0002 0/ 1
7 x ) — V% (mg/1) < 0.01 0/ 4
Filx (mg/1) < 0.01 0/ 4
Bk GEfgEE) = (mg/1) 0. 05 0.03 ~ 0.09[ 4/ 4
~ Ay (R (mg/1) < 0.02 0/ 4
Va-PX] (mg/1) < 0,02 0/ 4
T =T R R (mg/1) 0.08 0.05 ~ 0.08f 1/ 4
2o ATHEE R (mg/1)
A b Y CEERED Pk (mg/1) 0.077 0.052 ~ 0.14f 4/ 4
TOC* (mg/1)
il (BE) 2 1~ 6[12/ 12 3 1~ 6[12/ 12
AR (ms/m) 8.7 7.5 ~ 10f 4/ 8.9 7.2 ~ 12|12/ 12
C 1 A4 % (mg/1) 10 7~ 1 4/ 4
Va1 Py e (pg/1)
S A ARG B2 (f#1/100m1) 400 250 ~ 670 0/ 4 370 200 ~ 510 0/ 2
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)11 4, JE )1 FEAJ
HE H R | (B) THSER (B) ()

HEEH FERT 27 oM~ KA n/n SEE) T ME~ TR n/n T/ ME~ T K m/n
pH 7.4 7.2 ~ 7.7 0/ 12 7.9 7.3 ~ 9.1] 2/ 12 7.7 7.4~ 8.8 1/
DO (mg/1) 10 8.5 ~ 13 0/ 12 11 7.9 ~ 12 0/ 12 10 7.2 ~ 12| 1/
BOD (mg/1) 0.9 < 0.5 ~ 3.4 1/ 12 0.9 < 0.5 ~ 2.4) 0/ 12 10| < 0.5 ~ 2.8 1/
BOD (T Be 75%(H) 1.0 0.8 1.0

ammsEE Guin [SOP (mg/1) 1.8 0.9 ~ 2.6] 0/ 12 1.8 0.9 ~ 2.8] 0/ 12 1.9 1.2 ~ 2.8 0/
S S (mg/1) 1f < 1~ 4 0/ 12 2| < 1~ 71 0/ 12 2| < 1~ 5| 0/
KM R (MPN/100m1) 9. 0E03 7. 9E02 ~ 3.5E04| 5/ 12 1. 8E04 4.9E02 ~ 1.6E05| 5/ 12 7. TE03 7.9E02 ~ 5.4804| 9/
n —~F 4 Ul E* (mg/1)
e (mg/1) 1.0 0.59 ~ 1L6[ 4/ 4 0.57 0.35 ~ 0.72[ 4/ 4 1.7 1.6 ~ 1.7 4/ 4
Lol (mg/1) 0.036 0.017 ~ 0.052| 4/ 4 0.033 0.017 ~ 0.061| 4/ 4 0.041 0.024 ~ 0.069 4/ 4
HRIY A (mg/1) [ < 0.0003 <0.0003 0/ 1] < 0.0003 <0.0003 0/ 1] < 0.0003 <0.0003 0/ 1
LLT v (mg/1) ND ND 0/ 1 ND ND 0/ 1 ND ND 0/ 1
5,9 (mg/1) [ < 0.005 < 0.005 0/ 1< 0.005 < 0.005 0/ 1< 0.005 < 0.005 0/ 1
L PR (mg/D)| < 0.04 < 0.04 0/ 1| < 0.04 < 0.04 0/ 1] < 0.04 < 0.04 0/ 1
(mg/1) [ < 0.005 < 0.005 o/ 1< 0.005 < 0.005 0/ 1< 0.005 < 0.005 0/ 1
(mg/1) [ < 0.0005 <0. 0005 0/ 1| < 0.0005 <0. 0005 0/ 1] < 0.0005 <0. 0005 0/ 1
(mg/1) ND ND 0/ 1 ND ND 0/ 1 ND ND 0/ 1
PCB (mg/1) ND ND 0/ 1 ND ND 0/ 1 ND ND 0/ 1
(mg/1) [ < 0.002 < 0.002 o/ 1] < 0.002 < 0.002 o/ 1< 0.002 < 0.002 0/ 1
(mg/1) [ < 0. 0002 <€0.0002 0/ 1| < 0.0002 <0. 0002 0/ 1| < 0.0002 <0. 0002 0/ 1
(mg/1) [ < 0.0004 <€0.0004 0/ 1| < 0.0004 <0. 0004 0/ 1] < 0.0004 <0. 0004 0/ 1
1, 1-YsouxFLy (mg/D) [ < 0.002 < 0.002 o/ 1] < 0.002 < 0.002 o/ 1< 0.002 < 0.002 0/ 1
YZ—1, 2—VyunzFLv (mg/D) [ < 0.004 < 0.004 o/ 1] < 0.004 < 0.004 0/ 1< 0.004 < 0.004 0/ 1
deeR A 1, 1, 1-hUsupxgy (mg/1) [ < 0.0005 <0.0005 0/ 1| < 0.0005 <0. 0005 0/ 1| < 0.0005 <0. 0005 0/ 1
1, 1, 2—hYsumxyy (mg/1) [ < 0. 0006 <0. 0006 0/ 1| < 0.0006 <0. 0006 0/ 1| < 0.0006 <0. 0006 0/ 1
FYZmBpTFLL (mg/1) | < 0.002 < 0.002 o/ 1] < 0.002 < 0.002 o/ 1< 0.002 < 0.002 0/ 1
FhrIrmRTFLL (mg/1) [ < 0.0005 <0. 0005 0/ 1| < 0.0005 <0. 0005 0/ 1] < 0.0005 <0. 0005 0/ 1
1, 3—Ysnurasy (mg/1) [ < 0.0002 <0.0002 0/ 1| < 0.0002 <0. 0002 0/ 1| < 0.0002 <0. 0002 0/ 1
FUT A (mg/1) [ < 0. 0006 <0. 0006 0/ 1| < 0.0006 <0. 0006 0/ 1| < 0.0006 <0. 0006 0/ 1
vV (mg/1) [ < 0.0003 <0.0003 0/ 1| < 0.0003 <0.0003 0/ 1| < 0.0003 <0.0003 0/ 1
FARLUHNT (mg/D) [ < 0.002 < 0.002 o/ 1] < 0.002 < 0.002 o/ 1< 0.002 < 0.002 0/ 1
Ny y (mg/1)| < 0.001 < 0.001 o/ 1] < o0.001 < 0.001 o/ 1< o0.001 < 0.001 0/ 1
L (mg/1) [ < 0.002 < 0.002 o/ 1] < 0.002 < 0.002 o/ 1< 0.002 < 0.002 0/ 1
TP 22 3 OV P (mg/1) 0.80 0. 80 0/ 1 0.43 0.43 0/ 1 1.6 14~ L8[ 0/ 4
R 2 ek (mg/1) 0.013 1/ 1 0. 003 1/ 1 0.029 0.008 ~ 0.052 4/ 4
SoH (mg/1) 0.1] < 0.1~ 0.2[ 0/ 4 0.1 0.1 0/ 1 0.2 0.1~ 0.3 0/ 4
ESES (mg/1)[ < 0.02 < 0.02 0/ 1 0.02 0.02 0/ 1 0.03 0.03 0/ 1
1, 4—JF %9 (mg/1) [ < 0.005 < 0.005 o/ 1< 0.005 < 0.005 0/ 1[< 0.005 < 0.005 0/ 1
A lign (mg/1) 0.024 0.0080 ~ 0.057| 0/ 12 0.010 0. 0040 ~ 0.026] 0/ 12 0.012 0. 0050 ~ 0.021f 0/ 12
REAEMHEHA |/ =172 —1 (mg/1) 0.063| < 0.060 ~ 0.070| 0/ 4| < 0.060 < 0.060 0/ 4 0.090| < 0.060 ~ 0.12[ 0/ 4
LAS (mg/1) | < 0.0020 <0.0020 0/ 4| < 0.0020 <0.0020 0/ 4 0.0040| < 0.0020 ~ 0.010[ 0/ 4
R (mg/1) < 0.006 0/ 2 < 0.006 0/ 2 <0.006 0/ 2
Tz )=k (mg/1) < 0.001 0/ 2 < 0.001 0/ 2 < 0.001 0/ 2
A B L FRIVLT LT E Fx (mg/CI) < 0.03 0/ 2 < 0.03 0/ 2 < 0.03 0/ 2
4—t—FIFNT =) —) (mg/1) [ < 0.070 < 0.070 o/ 2[< o0.070 < 0.070 o/ 2[< 0.070 < 0.070 0/ 2
=) (mg/1) | < 0.002 < 0.002 o/ 2| < 0,002 < 0.002 0/ 2 < 0.002 < 0.002 0/ 2
2, 4—Ys/mur=)—)\ (mg/1) [ < 0.0003 <0.0003 0/ 2| < 0.0003 <0.0003 0/ 2| < 0.0003 <0. 0003 0/ 2
RN (mg/1) < 0.006 0/ 2 < 0.006 0/ 2 <0.006 0/ 2
rFvA—1, 2—-Y/rpxFL v (mg/1)
1, 2—Yz7unrsasy (mg/1)
p—YrunRyPy (mg/1)
AV FYFAL (mg/1)
ATV v (mg/1)
7x=hoFir (MEP) (mg/1)
AV TuF*T (mg/1)
X v (HTERER) (mg/1)
smuZu=,L (TPN) (mg/1)
Tu Y (mg/1)
EPN (mg/1)
EEE 7 uARA (DDVP) (mg/1)
Zx)7HNT (BPMC) (mg/1)
A 7u~URA (1BP) (mg/1)
sur=hn7zr (CNP) * (mg/1)
[ (mg/1)
Xvrv (mg/1)
T BNEEY T T ~F L (mg/1)
vk (mg/1)
Y TT (mg/1)
TrFEY (mg/1)
ke =rE ) ~— (mg/1)
Tvsnmrk KY v (ug/1)
Ee (mg/1)
VT (mg/1)
7z ) — L% (mg/1)
i (mg/1)
B (AR * (mg/1)
~ U () * (mg/1)
7o Lk (mg/1)
T =T R R (mg/1)
2o ATHEE R (mg/1)
A b RERR Y (mg/1)
TOC* (mg/1)
il (BE) 2| < 1~ 1 8/ 12 2| < 1~ 8| 8/ 12 3] < 1~ 7110/
AR (ms/m) 8.2 6.4 ~ 1f12/ 12 10 8.4 ~ 1|12/ 12 12 9.2 ~ 16] 12/
C1AF+* (mg/1)
Va1 Py e (pg/1)
S A ARG B2 (f#1/100m1) 190 50 ~ 3200 0/ 2




